EARAROBEEIERT — 2 N— IBISH —F

20155108180 (H) 15EI£IR3H

KW >%—f# C2=%6 (xwlw | lmEmml - |5 @) o 8
[AE4£] 1% :160,000  ~ 2#&:32,000 ™  37%&:14,000” . 43%&:11,000 " 57 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = FEREKA :33. —5-4- . — SEEE (&R
i 6| ALATST7— it 3 ES 1(3_3)8 5-5-4-3 | 40.2 4 (3+835) e @n
LA LINT Ry VX B2/ vAEX BEAZ &Y K
0 = a5 SUEE :34. -1-1- . = SARED (2R
2 3 IS— T IS % 3 ;.0 (11 314/21) 1-1-1-1 | 42.5 3 (4_879) R
L:77NT57 B3 13T MR R—
P B3 | MEE 1:34.4 3-3-3-3 |42.0| — 5 407 | REBC (£R)
3011 |YVTR&>LT 1 54.0 A 1/2) (-2) A(Iﬁl) J P NHHR
R:TH—T4F4F—-X¥%> I ANEIL TIXELTy—L
@ REHE : —6-6- - SHARR (£IR)
alglio| =TT AL i 3 o 1.(324).8 6-6-6-6 | 41.0 2 (4:338) BIEK (@
R:F—TRTN—bF B =T YXTHY N — T 45
B 3 | EBR% 1:35.2 8-7-7-7 | 40.7| — 10 | 399 |=RMZFEZ (£R)
5 9|/ —ARZX I 54.0 @ (-a) ") 1PN
R:nNd B:/—X5> 49— R4S
3 it 3 | SHAKR— 1:35.8 7-8-8-8 | 41.2| — 8 459 | £H—8 (£R)
6|/5/5| YrH 54.0 3) ey | (B J PN
R:FFHATFDd ANV pII—T> TEHS
. . 4 3 | BREBAML 1:35.8 4-4-4-5 | 42.3| — 7 438 | BWEA (£2R)
7|8/ 9| Y~E>RA— 54.0 (1NF) 1) &) A-2h7
L:T77NTTT B:YALChE—FR fiE  ERA
S B 4 | EEASK 1:35.8 9-10-9-9 |40.7| — 6 388 | EHEX (£R)
8 4| 7AYAF—FU— %530 (75%) © | Tr—AREVAL
LA anK—F— BiahTA—KU-— = e )
S 4 3 | EEBAX 1:36.1 1-1-1-2 | 44.5| — 1 430 |&£H—& (£R)
9|7(8|VF>—% 54.0 (1 172) (o) | (B J PN
LA bA—b By —0lN— 525N
b7l 7| =1xa>Fzur it 4 g“l:r_%% 1:(357).1 9-9-9-10 |42.2| — 9 (3+718) EE?&E{%_ (&3R)
L:aArFaaty b B:I)-UT78— EvJiLy RT77—L4L
® 1—F—@EBIERL
12=7r= (3,8),1,9,6,10,5,2, (4,7)
23—F— (3,8),1,9,6,10,2,5,7,4
== (3,8),1,(6,9),10,2,5, (4,7)
40—F— 3,8,(1,6),9,10,2,5,4,7
[ N5
B 6 860M 714K 3-6 570 e E 3-6 1,270M JEE 1-3-6 3,380M
B B 6 470 1-6 1,140H e B 6-3 4,250M JEE 6-3-1 20,5804
3 250 1-3 770M B & 3-6 1,780
1 310M B HE 6-3 5,170

ABICOVWTRDTEEERROODE. TR LIV,



